Project for Unit 1
Infant Mortality Data – Linear Regression Lines

Show All Work

The following table shows the mortality rates (in deaths per 1000 live births) for male and female infants, of all races, in the United States, from 1980 to 1997.

	Year
	Male
	Female

	1980
	13.9
	11.2

	1981
	13.1
	10.7

	1982
	12.8
	10.2

	1983
	12.3
	10.0

	1984
	11.9
	9.6

	1985
	11.9
	9.3

	1986
	11.5
	9.1

	1987
	11.2
	8.9

	1988
	11.0
	8.9

	1989
	10.8
	8.8

	1990
	10.3
	8.1

	1991
	10.0
	7.8

	1992
	9.4
	7.6

	1993
	9.3
	7.4

	1994
	8.8
	7.2

	1995
	8.3
	6.8

	1996
	8.0
	6.6

	1997
	8.0
	6.5


1. Write at least two important conclusions from observing the data in the table.

2. Make a neat and careful graph entitled Infant Mortality Rates by putting Year on the horizontal axis and Number of Infant deaths (per thousand) on the vertical axis.  Use the year 1980 as t = 0, and plot both sets of data on the same axis.  The resulting graphs should be a series of dots (that is, a scatter plot); use two different styles of dots, for instance, squares and pulses.  Do not connect the dots with a line.  Label which graph is for males and which is for females.

3. Use your calculator to find the linear regression lines for both the male and femal data sets.  Write the equations of the linear regression lines that the calculator gives you, using 4 decimal places for a and b in y = ax + b (x is really the variable t).  label which equation represents male infant deaths and which is female infant deaths.

4.       A) What is the slope of the line for the infant male deaths?

B) Write a sentence(s) to explain what the slope means as related to male infant deaths.

C) What is the vertical intercept of the line for the infant male deaths?  What does it mean in the context of the problem.

5. A) Using the line for the infant female deaths, predict the number of female, infant deaths per 1000, in the year 2001? Show the work or explain how you arrived at your answer.

B) Do you have confidence in the prediction for the year 2001? Explain why or why not.

C) Predict the year when there would be no female infant deaths. Show the work to support your answer.
D) How confident are you about your prediction in part C)?

E) Do you think it is possible that there would come a time when there would be no infant deaths in the U.S.? Give reasons for your opinion.

6. Go to 2nd STAT PLOT and press 4 plotsOff. This will turn off the scatter plots.  You may keep the equations that are in Y1 and Y2 or if you have cleared them, type in the equations you found in step 3.

A) Graph these lines using the window:

Xmin = -2

Xmax = 50

Xscl = 5

Ymin = -5

Ymax = 15

YScl = 2


Find the point of intersection of the two graphs by using 2nd CALC 5: intersect.


Write the point given by the calculator.

B) What is the meaning of the point of intersection in the context of the   problem?

